
 

  

  

 
CGR80−7N

CGR80-1A

Adaptation
V&N: 507
ts=0.1

logVo = −0,35[uλ−u557]2

logvo = −0,35[uλ−u457]2

logVa= logVo+0,00
logva= logvo+0,00

uλ=(λ−550)/50

log[Empfindlichkeit]
loggo = −0,35[uλ−u507]2

logga= loggo+0,00
log [Va, va]
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CGR80-2A

Sättigung V
Adaptation
V&N: 507
ts=0.1

logVo = −0,35[uλ−u557]2

logvo = −0,35[uλ−u457]2

logVa= logVo+0,00
logva= logvo+0,00

log[Sättigung]
loggo = −0,35[uλ−u507]2

logga= loggo+0,00
log [Va/ga, va/ga]
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CGR80-3A

Adaptation
V&N: 507
ts=0.1

logVo = −0,35[uλ−u557]2

logvo = −0,35[uλ−u457]2

logVa= logVo+0,00
logva= logvo+0,00

uλ=(λ−550)/50

log[Empfindlichkeit]
loggo = −0,35[uλ−u507]2

logga= loggo−0,35
log [ga, Va, va]
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CGR80-4A

Sättigung V
Adaptation
V&N: 507
ts=0.1

logVo = −0,35[uλ−u557]2

logvo = −0,35[uλ−u457]2

logVa= logVo+0,00
logva= logvo+0,00

log[Sättigung]
loggo = −0,35[uλ−u507]2

logga= loggo−0,35
log [ga/ga, Va/ga, va/ga]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

 −1

   

   0

  

   1
Va

557

go

507

Na

457

CGR80-5A

Adaptation
V&N: 507
ts=0.1

logVo = −0,35[uλ−u557]2

logvo = −0,35[uλ−u457]2

logVa= logVo+0,00
logva= logvo+0,00

uλ=(λ−550)/50

log[Empfindlichkeit]
loggo = −0,35[uλ−u507]2

logga= loggo−0,35
log [ga, va]
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CGR80-6A

Sättigung V
Adaptation
V&N: 507
ts=0.1

logVo = −0,35[uλ−u557]2

logvo = −0,35[uλ−u457]2

logVa= logVo+0,00
logva= logvo+0,00

log[Sättigung]
loggo = −0,35[uλ−u507]2

logga= loggo−0,35
log [ga/ga, va/ga]
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CGR80-7A

Adaptation
V&N: 507
ts=0.1

logVo = −0,35[uλ−u557]2

logvo = −0,35[uλ−u457]2

logVa= logVo+0,00
logva= logvo+0,00

uλ=(λ−550)/50

log[Empfindlichkeit]
loggo = −0,35[uλ−u507]2

logga= loggo−0,35
log [ga, Va, ]
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CGR80-8A

Sättigung V
Adaptation
V&N: 507
ts=0.1

logVo = −0,35[uλ−u557]2

logvo = −0,35[uλ−u457]2

logVa= logVo+0,00
logva= logvo+0,00

log[Sättigung]
loggo = −0,35[uλ−u507]2

logga= loggo−0,35
log [ga/ga, Va/ga, ]
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CGR81−7N

CGR81-1A

Adaptation
V&N: 507
ts=0.1

logVo = −0,35[uλ−u557]2

logvo = −0,35[uλ−u457]2

logVa= logVo+0,00
logva= logvo+0,00

uλ=(λ−550)/50

lin[Empfindlichkeit]
loggo = −0,35[uλ−u507]2

logga= loggo+0,00
 [Va, va]
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CGR81-2A

Sättigung V
Adaptation
V&N: 507
ts=0.1

logVo = −0,35[uλ−u557]2

logvo = −0,35[uλ−u457]2

logVa= logVo+0,00
logva= logvo+0,00

lin[Sättigung]
loggo = −0,35[uλ−u507]2

logga= loggo+0,00
 [Va/ga, va/ga]
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CGR81-3A

Adaptation
V&N: 507
ts=0.1

logVo = −0,35[uλ−u557]2

logvo = −0,35[uλ−u457]2

logVa= logVo+0,00
logva= logvo+0,00

uλ=(λ−550)/50

lin[Empfindlichkeit]
loggo = −0,35[uλ−u507]2

logga= loggo−0,35
 [ga, Va, va]
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CGR81-4A

Sättigung V
Adaptation
V&N: 507
ts=0.1

logVo = −0,35[uλ−u557]2

logvo = −0,35[uλ−u457]2

logVa= logVo+0,00
logva= logvo+0,00

lin[Sättigung]
loggo = −0,35[uλ−u507]2

logga= loggo−0,35
 [ga/ga, Va/ga, va/ga]
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CGR81-5A

Adaptation
V&N: 507
ts=0.1

logVo = −0,35[uλ−u557]2

logvo = −0,35[uλ−u457]2

logVa= logVo+0,00
logva= logvo+0,00

uλ=(λ−550)/50

lin[Empfindlichkeit]
loggo = −0,35[uλ−u507]2

logga= loggo−0,35
 [ga, va]
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CGR81-6A

Sättigung V
Adaptation
V&N: 507
ts=0.1

logVo = −0,35[uλ−u557]2

logvo = −0,35[uλ−u457]2

logVa= logVo+0,00
logva= logvo+0,00

lin[Sättigung]
loggo = −0,35[uλ−u507]2

logga= loggo−0,35
 [ga/ga, va/ga]
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CGR81-7A

Adaptation
V&N: 507
ts=0.1

logVo = −0,35[uλ−u557]2

logvo = −0,35[uλ−u457]2

logVa= logVo+0,00
logva= logvo+0,00

uλ=(λ−550)/50

lin[Empfindlichkeit]
loggo = −0,35[uλ−u507]2

logga= loggo−0,35
 [ga, Va, ]
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CGR81-8A

Sättigung V
Adaptation
V&N: 507
ts=0.1

logVo = −0,35[uλ−u557]2

logvo = −0,35[uλ−u457]2

logVa= logVo+0,00
logva= logvo+0,00

lin[Sättigung]
loggo = −0,35[uλ−u507]2

logga= loggo−0,35
 [ga/ga, Va/ga, ]
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TUB-Prüfvorlage CGR8; Empfindlichkeit 557,457,507, VNg−>V/g & N/g, lin[Schwellen]=0 & 0,10
log[Empfindlichkeit], log[Verhältnis], LMS-R21=557,457,507, WN-Antigonismus
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